B AR 1 (TR0 sEE)

= B 2§ =
E = 4 A
[1](1) 164+5x3 (6>%+% Do
DINESE
# 31 = 10 | 10
(2) 54+2—3%6 " %Jr%_%
2)2.1 =3
1
ba
&= 9 4
8 J =3
(3) 5.424+6.09 (8) 50
S
3 (3) +8=14
i 2
Z:3 11.51 20
W 6.1 .10
4) 1.5x0.72 (9) 7x2§7ﬁ
s
9 1,4 1L 1
b 2 {4 2 1 (4)5= X =
a3 1.08
) 2 3 1.5
(5) 10.66-:-2.6 (10) 3§XI_§+§
7 3
= 4.1 " T{ 17] i




B R AR 2 (0.0 BE)

= B KX =)
E = % =3
5) 1008 S5 %Cm DEFFHOER cm? T B, (9) 300gPHEE 8 A THT 5 LA g b, (}1) ; ; fﬁf DATIE26 L B\ vk L7, 3000MIE 3 & 3500 [0 Bin
Eﬁ )O
9 % 37.5
= 25 ,
(10) BB RO Ok S T L B &, kmitis,
6) 2.3km 1 mTh5.
% 868 M
@ #TOESHbem, EOESAUIMDEFHADD E. BOE
S TORESOMETT M,
= 84
1) BREERDES,
% 2300
.
1) = 5313 BHCh A,
Tgem
o 2.4 fi%
D3 75 3) L35 < ALERE E-L%E#Faﬁﬁ?ﬂﬁﬁ L, %H#Fa'ﬁ? LEREE L #
2
% 7.065 ci BRI L U B RS L D RS e,
1
®)36="% 2) AR S
e 24 cm = 20




